BCS303

U Operatmg Syst r@g;
Time: 3 hrs. f\\ Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosin%NE Sfull question from each module.
2. M : Marks , L: Bloom’s level , C: Couggé&qutcomes. R

Moduleg™ "IM| L | C
Q.1 | a. | Define Operating System Explain d@@ e of OS with a neat diagratn. 5 | L1, | CO1
 d £ g L2
b. | Distinguish between the followirfg tepns: o, 10 | L2 | CO1
i)  Multiprogramming and M king gy
i)  Multiprocessor system{and,lustered system. P v
c. | With a neat diagram, %am the concept the c@a%pt of VM-WARE |5 | L1, | CO1
architecture. % oy L2

P & w ‘Sf
OR P
g system services with%ect to programs and users. 5| L2|CO1

Q.2 | a. | Explain the s%;q:%'ﬁr

b. | List and @m the different computmg environments. 5 | L1,| CO1
L2
c. Wm stem calls? List and e$l)a;n the different type 3B6system calls. |10 | L1, | CO1
A \ L2
: = Module — 2
Q.3 | a. | Define process. Explain ﬁf’rgm states of a pro @ &Qt‘ﬁ state dlagram“% 8 | L1,| CO1
L2

P
b. | What is IPC? Explam%ct and indirect &r?r&ﬁnumcatlon wnth regpekt to|8 | L1, | CO2
message passmg & a L ) Oy
U i X

c. | Explain conteg% chmg W@w 4 | L2 | CO2

e
;

T

Q4 |a.| What| g; multl-threaded process‘?%xplain the four beﬁé‘{v@s of multithreaded | 6 | L2 | CO2

proggg , Frad

b. Cal,cul’ate the averagevaifing time and ayerdge turn around time by |14 | L3 | CO2
gdrawing the Gantt- m,- using FCFS,"‘@JQF-non preemptive, SRTF,
% (q =2ms) and s';,,.‘ algorithms. %

g k4

{ Arrival time gu%t time | Porosity
) 0 .4 9 3
" s
_ P2 1, % 4 2
% P3 A i 9 1
‘| P4 3 5 4

e & Module -3

Q.5 |a.| What is critical section? "What are the requirements for the solution to | 8 | L1, | CO3

critical section pr‘?bl@m? Explain Peaterson’s solution. L2
b. | Explain Read erter s problem using semaphores. 12 | L2 | CO3
10f2
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OR :
What is deadlock? What are the necessary conditions for the%%dlock to

Q6 6 [ L1, ]| Co3
occur? : @ L2
Consider the following snap-shot of a system: ™ 14| L3 | CO3 |
Process Allocation Max & Abvailable
A B CD|A BZC éi W B C D
PO 2 0 0 1] 4 1 Y43 3 2 1
Pl |3 1.2 1|5 Si 2 %%
P2 2 1 0 312 6 %7
P3 1 3 1 211 4 X,
P4 1 4 3 2 5 &
Answer the following using Ba e,
i)  Is the system in safe stat give the safe sequences,,
it) If process P2 reque 1, 1, 3) resource can it be granted
immediately. : ¢
Module — 4 o
Q.7 What is paging? %gp}g with neat diagram pagin§ Hardware with TLB? 10 | L1, | CO4
Ay
‘ 4 L2
What are thef¢Ommonly used strategies 4o%gelect a free hole from the [ 6 | L1 | CO4
available h&!ss?
A’%} &
Explai%gnenmtion in detail. 2 4 |L2 | CO4
2 TR ’§
Q.8 With a neat diagram? Describegthe steps in handlirgﬁgé@ége fault. A 8 [ L2 | CO4
Consider the page refergace’string: 1, 0,7, 1, 0,208 2,3, 0,3, 2, 4, 03376, | 12 | L3 | CO4
2, 1 for a memory witl, 3 frames. Determfne the number of page fAults
using F1, FO, optjmalrand LRU replacexr%a orithms which algorithm is
more efficient. m% . %%‘%
pdiile— S £
Q.9 Define file. List and explain thg,diff€tent file atm’bu@ nd operations. 10| L1 | COS
¥ ; .
Expliinthe different allocgfioq methods. ‘. 10 L2 | CO5
i v ' OR é%
Q.10 | £ f9What is Access MatriX? Explain Ac?s, atrix method of system | 10 | L1, | COS
\ % protection with dgmain as objects and its implementation. L2
3 4
000 cylinders numf%igd 0 to 4999. The drive is currently | 10 | L3 | COS
serving a t 143 and previwzy serviced a request at 125. The queue
of pendi quests in FIFO orderis:
86, 1470,913, 1774, 948, 4509, 1022, 1750, 130 starting from current head
position. What is the ttance travelled (in cylinders) by disk arm to
satisfy the requests usii’ FCFS, SSTF, SCAN, LOOK and C-LOOK
algorithm. 2
) s kTR —
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